

$$\begin{aligned}
 x = -1 &\Rightarrow a - b + c = 9 \quad x = 3 \Rightarrow 9a + 3b + c = 1 \quad \frac{-b}{a} = -1 \Rightarrow b = 9a \\
 \Delta a + \Delta a &\Rightarrow \Delta \Rightarrow a = -1, b = -1 \Rightarrow a - b + c = 9 \\
 \Rightarrow -\frac{1}{3} + 1 + c &= 9 \Rightarrow c = \frac{16}{3} \Rightarrow -\frac{a^2}{3} - x + \frac{16}{3} = 0
 \end{aligned}$$

$$\begin{aligned}
 \Delta > 0 &\Rightarrow m^2 - f(r)(m + f) > 0 \Rightarrow m^2 - \Delta m - f\Delta > 0 \\
 \Rightarrow (m - 12)(m + 6) &> 0 \Rightarrow \begin{array}{c} -f \\ +1 \end{array} \quad \begin{array}{c} 11r \\ - \end{array} \quad (-\infty, -6) \cup (12, +\infty)
 \end{aligned}$$

$$a + b = \frac{1}{a \times b} \Rightarrow \frac{-b}{a} = \frac{1}{\frac{c}{a}} \Rightarrow \frac{-b}{a} = \frac{a}{c}$$

$$\Rightarrow \frac{-r(m+1)}{r-m} = \frac{r}{r-m} = r m^2 - \Delta m + r = 9 \Rightarrow r m^2 - \Delta m - 8 = 0$$

$$\Rightarrow m^2 - \Delta m - 8 = 0 \Rightarrow (m - 8)(m + 1) \begin{cases} m = 8, 0 \checkmark \\ m = -1 \times \end{cases}$$

$$\begin{aligned}
 x_1 + x_2 &= 1, x_1 x_2 = -f \quad x_1^{\frac{1}{r}} + \frac{1}{x_1^{\frac{1}{r}}} = A \quad x_1^{\frac{1}{r}} + \frac{1}{x_1^{\frac{1}{r}}} = B \\
 \Rightarrow A + B &= \frac{1}{x_2} + \frac{1}{x_1} + x_1^{\frac{1}{r}} + x_1^{\frac{1}{r}} = \frac{x_1^{\frac{1}{r}} + x_2^{\frac{1}{r}}}{x_1 x_2} - (x_1^{\frac{1}{r}} + x_2^{\frac{1}{r}}) = 1 - \frac{1}{f}
 \end{aligned}$$

$$= \frac{01}{f} \Rightarrow AB = \left(\frac{1}{x_2} + x_1^{\frac{1}{r}}\right) \left(\frac{1}{x_1} + x_2^{\frac{1}{r}}\right) = x_1^{\frac{1}{r}} x_2^{\frac{1}{r}} = -4f$$

$$\begin{aligned}
 \Rightarrow 2x_1^{\frac{1}{r}} + x_2^{\frac{1}{r}} &= (x_1 + x_2)^{\frac{1}{r}} - r x_1 x_2 = 1 - (-1) = 2 \Rightarrow AB = \frac{1}{f} - 4 - 4f = -\frac{17}{f} \\
 \Rightarrow -f x_1^{\frac{1}{r}} + 01x + r r 1
 \end{aligned}$$

$$\left(\sqrt[r]{x_1} + \sqrt[r]{x_2} + 1\right) \left(\sqrt[r]{x_1} - 1\right) = r \sqrt[r]{x_1} \Rightarrow x_1^{\frac{1}{r}} - 1 - r x_1 = 0 \quad x_1^{\frac{1}{r}} - r x_1 = 1 = 0$$

$$\Rightarrow s = \frac{-b}{a} = \frac{-(r-1)}{1} = 1$$

$$p = \alpha \quad B = a r a = \frac{f}{r} \Rightarrow \alpha = \pm \frac{r}{r}$$

$$\begin{aligned}
 S = \alpha + r \alpha &\Rightarrow f \alpha = \frac{a}{r} \Rightarrow \pm \frac{1}{r} = \frac{a}{r} \Rightarrow \Delta = \pm \Delta \\
 \Rightarrow \text{Jawab} &= \boxed{17}
 \end{aligned}$$

$$c = 0 \Rightarrow \text{discriminant} = 0 \Rightarrow \text{---} \checkmark \quad a > 0 \quad -\checkmark$$

$$\Rightarrow \frac{-b}{a} > 0 \Rightarrow \frac{-r - ra}{ra} > 0 \Rightarrow \frac{-\frac{r}{r} - \frac{r}{r}a}{1} > 0 \Rightarrow \frac{-1 - a}{1} > 0 \Rightarrow a < -1$$

$$a \in [-\frac{r}{r}, 0)$$

$$\frac{-b}{ra} \Rightarrow \frac{-a}{r} = \frac{r}{-r} \Rightarrow a = r \quad -\Delta$$

$$\Delta \Rightarrow r + 1 = (-1)(b) \Rightarrow r = -1 - b \Rightarrow b = -r - 1$$

$$a \times b = r \times (-r - 1) = -r^2 - r$$

$$\frac{a}{r} + \frac{a}{ra} = 1 \Rightarrow \frac{a}{r} + \frac{1}{r} = 1 \Rightarrow a = r - 1 \quad -9$$

$$\frac{r}{ra} = \frac{-r}{r} = -1 \Rightarrow \frac{b}{r} = -1 \Rightarrow b = -r$$

$$\frac{a \cdot b}{r} = \frac{-r}{r} = -1$$

$$\left. \begin{array}{l} s_a = p + z \\ s_b = k + p \end{array} \right\} \Rightarrow s_a - s_b = z - k \quad -10$$

$$a, p = x^r + r x + m$$

$$k, p = x^r + r x - r m$$

$$s_a = -9, s_b = -1 \Rightarrow z - k = -9 - (-1) = -8$$